Module 6

ANSWERS TO QUESTIONS FROM THE TEXT

Review questions from Section 6.2:

Q.1
0, 1, 10 (“two”), 11, 100 (“four”), 101, 110, 111, 1000 (“eight”), 1001, 1010, 1011, 1100, 1101, 1110, 1111, 10000 (“sixteen”), 10001, 10010, 10011, 10100.

Q.2

704 (decimal) = 29 + 27 + 26 = 101100000 (binary)

Q.3

KG!

Q.4

An assembler is a program that translates a program into machine 

language from an assembler language, i.e., from a language whose instructions correspond, one-to-one, with machine-language instructions.  Using an assembler gives the programmer maximum ability to use all the special features of a given machine to their fullest.
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